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o dax A 500,000 * 8 2~ 4,000
o d2=+J| ;A2 20,000 » 8 * 12& 1,920
o SMEX 25,000 * 6% A « 8IHA 1,200
o Zelf &Y 250,000 = 8CH 2,000
o SAPI Bl 200,000 = 8CH 1,600
o JEt ARES 20,000 = 105 128 2,400
o Jtt E~E3 20,000 « 7& » 122 1,680
< o=l > 0
o STEH2AA AM=Z 50,000 * 21 1,050
o MZEN M= 50,000 » 19¥ 950
02 S&5=gH 53,821 53,028 793
<ZTRILHA > 0
o H3R= 50,000 = 8JHA » 12 4,800
o MIIR= 250,000 * 84 * 12 24,000
o =ER= 20,000 * 304 » 123 720
o RUERS 685
- SJ|k# 1,770 = 2004 ~ 128 425
- 2ot H 270 = 800K » 123 260
o FNERES 26,000 * 8 * 23 416
< gHZdl > 0
o AT HAHY
700,000 * 82 * 3 16,800
< ANEFHISTA > 0
o 9 Z&H S =4 250,000 * 8IHA * 23| 4,000
o ANE= RAl 50,000 = 8 6 2,400
202 011 7,950 7,950 0
01 2O 7,950 7,950 0
o HEESAY =8 20,000 = 10& = 10 2,000
o 29 ARUSF 20,000 = 11 = 64 1,320
o StEgYAZ A ALY 20,000 » 50 1,000
o B9 FOPIE 01SHE
10,000 = 11 = 33 3,630
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